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1. The value of one Angstrom is ________ (in micron)

A. 10-4 micron
B. 10-6 micron
C. 10-10 micron
D. 10-2 micron

2. Which of the following is NOT based on the heating effect of current?

A. Electric heater
B. Electric bulb (with filament)
C. Electric iron
D. Microwave

3. Which force moves an aircraft through the air?

A. Lift Force
B. Drag Force
C. Thrust Force
D. Gravity Force

4. Why are the soles of the shoes treaded?

A. To give the shoes more protection
B. To decrease friction
C. To increase friction
D. To increase life of the shoes


